
k"FhLut tkm{ M 

qm=;+= of]hgf tyf sfo{qmd cg'dflgt s}lkmot 
! l/ld3f /Def dxf]T;j @)&%  *)))))  
@ wf]jfbL dfl;{8fF8f lnGd'gL ldngrf]s df]=af=$ !!)))))  
# ;lt9'Ëf vfg]kfgL % @))))))  
$ /Def ax'd'vL SofDk; tnj eQf % #%))))  
% ;fgf x'FuL df=lj= ejg lgdf{0f @ !@)))))  
^ ls6]gL nfj] d:NofË df]=af=@ !#)))))  
& cf]de~HofË ;'?d8fF8f d:NofË df]=af=@ !))))))  
* kfF8]sf]6 vf=kf= tyf ;fj{hlgs zf}rfno x'ldg $ !))))))  
( /Def ax'd'lv SofDk; sDKo'6/ v/Lb % %))))  
!) e~Hofªyf]s kmf]lS;+8fF8f x'FuL df]=af=@ *)))))  
!! wf/fbL vf=kf=j8f=g @ a]nfGhf *)))))  
!@ pkxf/ ;fdflhs pBdL d=;xsf/L ;+:yf zf}rfno @ @%))))  
!# db{jL/ vfg]kfgL of]hgf tfx'F % !%)))))  
!$ h]i7 gful/s k|jrgfno lgdf{0f -sfnLu08sL 1fg lj1fg k|lti7fg_ ! %)))))  
!% ufpFkflnsfdf ;fj{hlgs zf}rfno lgdf{0f # @%))))  
!^ /]8s|; ejg dd{t tyf 6«:6 lgdf{0f # #)))))  
!* dflyNnf] 3'ªl;ª n'ª\s/] rs|ky # !^)))))  
!( s[i0f u08sL df=lj= ejg lgdf{0f ! !$)))))  
@) ;]h'ufpF sfk'08fF8f vf]nfv]t df]=af=! !#)))))  
@! ;]h' kmfF6 l;+rfO{ j8f=g ! &)))))  
@@ ;Fufxf 8'd|Ls'gf df]=af= ! *)))))  
@# x'FuL :jf=rf}sL dd{t ! $)))))  
@$ jurf}/ lnlˆ6Ë vf=kf=l8=kL=cf/= tof/ $ @)))))  
@% c=k=df=lj= vfg]kfgL wf/flb j8f=g # ^)))))  

@^ 
cFufxfvf]nf ;fxf/f s[lif ;xsf/L ;+:yf s[lif pkh ;+sng s]Gb| 
lgdf{0f # 

@%))))  

 

 

%_= cf=j= cf=j= @)&%÷)&^ sf] nfluk|To]s j8f sfof{noaf6 k|fyldstf lgwf{/0f u/L 
5gf}6 eO{ cfPsf tkl;n adf]lhdsf of]hgfx? ;j{;xdtL 4f/f :jLs[t ug{] lg0f{o 
ul/of] . 

j8f sfof{no ! g+= sf of]hgfx? 



;8s tkm{sf of]hgfx? 

l;=g+= of]hgf tyf sfo{qmd  /sd s}lkmot 
१ c;]{bL lj/fxf #f]:jGbL df]^/af^f] 150000  
२ a(‘jf a/ leqLaf^f] 50000  
३ un}rL leqLaf^f] uf]/]^f] 50000  
४ sdn] cf+k lhDdfn ^f]n af^f] 50000  
५ af]^] ufp+ uf]/]^f] af^f] lgdf{)F 40000  
६ c;]{bL l/~/f]* 150000  
८ l(slkknb]vL sf]/L*f]/ hf]*g] df]=jf= 440000  
९ cldnL h}^f]nf df]=af^f] lgdf{)f 300000  
१० a]N^f/ cf+k;]/f df]=jf= lgdf{)f 250000  
११ kG^f/ sd]/] cldnL l/~/f]*  150000  
१२ ;f&L a}/fbL df]=jf= dd{t 50000  
१३ :jn]{s vf]nfv]t emLlb{ gfub]jL df]=jf= 450000  
१४ s/fbL vf]nf ;]sf{jf; af^f] dd{t 300000  
१५ kG^f/ :jn]{s vo/#F/L df]=jf= 150000  
 hDdf 2580000  

Vfg]kfgL tkm{sf of]hgfx? 

l;=g+= of]hgf tyf sfo{qmd /sd s}lkmot 
1 hgHof]lt k|f=lj= vf=kf= 40000   
2 hg sNof)f df=lj= vf=kf= }̂sL lgdf{)f 100000   
3 dh'jf k|f=lj= vf=kf= }̂sL+ lgdf{)f 50000   
4 dh'jf vf=kf= }̂sL+ lgdf{)f 50000   

@& tf/hfnL Joj:yfkg &)))))  
@* x\o'd kfO{k v/Lb *)))))  
@( kfO{k v/Lb &)))))  
#) d]l;g/L cf}hf/ tyf cGo pks/0f v/Lb !))))))  
#! df]6/;fO{sn v/Lb !%)))))  
#@ kmlg{r/ v/Lb !))))))  
## wf]afbL ufj'8f8f df]=af $ @)))))  
#$ kmf]l;ªsf]6 :jf:Yo rf}sL tf/af/ @ !%))))  
#% s/\ofgs'g vf=kf j8f g=$ !)))))  
#^ 3fr 5fªuf vf=kf # @)))))  
#& /Def df=lj d}bfg ;'wf/ lgdf{0f sfo{ % @)))))  
#* Wofª\;Lª kf]v/f /}of j8x/] $ !)))))  
 hDdf M @&!))))  



5 e^\^/fO{ ^f]n vf=kf= dd{t 40000   
7 dflyNnf] a}/fbL vf=kf= }̂sL lgdf{)f 50000   
9 efNbL vf=kf= dd{t 40000   
10 d'lvof ^f]n vf=kf= }̂sL lgdf{)f 50000   
11 c/]vfg ^f]n vf=kf= dd{t 50000   
12 vfs"*f+*f lnkm\l^~ vf=kf= dd{t 100000   
13 t'/t'/] vf=kf= dd{t 50000   
14 lj;f}gf vf=kf= dd{t 50000   
15 efn ('uf+ vf=kf= dd{t 40000   
16 ;fljs x'+uL 5,3,1 sf] es')*] DPR lgdf{)f 200000   
 hDdf 910000   

 

l;+rfO{ tkm{ 

l;=g+= of]hgf ty sfo{qm /sd s}lkmot 
1 kr'jf s'nf] dd{t 50000  
2 cfSjf c;]{bL l;+rfO{ 300000  
3 axQ/L s'nf] dd{t 50000  
4 ;+ufxf &"nf] s'nf] dd{t 50000  
5 ;f&L s'nf] dd{t 50000  
6 Hofd?s tNnf] s'nf] dd{t 50000  
7 :ju{ n]s s'nf] dd{t 50000  
8 a]nsf] ]̂ s'nf] dd{t 40000  
9 dfgk's s'nf] lgdf{)f 60000  
10 u}/L s'nf] dd{t 50000  
11 x'+uL kmf+^ s'nf] dd{t 200000  
12 krf;] s'nf] dd{t 50000  
13 dh'jf l;+rfO{ s'nf] dd{t 100000  
 hDdf 1100000  

 

cGo of]hgfx? 

l;=g+= of]hgf ty sfo{qm /sd s}lkmot 
1 (fj vf]nf sNe {̂ lgdf{)f 60000  
2 ;fj{hlgs zf}rfno lgdf{)f ;fljs 5 100000  

  hDdf 160000  



  rfn' vr{ 250000  
  s"n hDDff 5000000  
 

k|b]zdf dfu ug{] of]hgfx? 

l;=g+= of]hgf ty sfo{qmd /sd s}lkmot 
1 gf} ufp+ &"nf] s'nf] lgdf{)f     
2 vf]nfv]t j}/fbL d:Nof~ df]^/af^f]     
3 kG^f/ x'+uL#f^ df]^/af^f] lgdf{)f     
4 tNnfaf/L j:ofn ^f]n %fk hf]*g] af^f]     
5 hgsNof)f df=lj= 8 sf]&] ejg lgdf{)f     
6 cldn^f/ v]n d}bfg     
7 lt;d'/] kGy dw]/f] vf]N;L lgdf{)f     
8 l;dn u}/f lzjdlGb/ df]=jf=     
9 c;]{bL a[xt vf=kf= -Ps #/ Ps wf/f_ lgdf{)f     
10 sfnL u)*sL !fg lj!Fg a[$ jfrgfno lgdf{)f     
11 c;]{bL ls|s]^ v]n d}bfg lgdf{)f     
12 sfnL u)*sL lnkm\^ l;rfO{ cfof]hgf /Def 1 x'uL- ;fljs j*f g+= 3_     

 

s]Gb|df dfu ug{] of]hgfx? 

l;=g+= of]hgf ty sfo{qmd /sd s}lkmot 
1 c;]{bL /fgLaf; cf]de`Hof~ x'b} tfx'+ df]=jf=   
2 vf*f#f^ dfn'~uf kSsLk'n lgdf{)f   
3 nf ]̂ vf]N;f] e'~ufg] en lgoGq)f   
4 kmfnu}/f e'~ufg] en lgoGq)f   
5 cldnL^f/ hfd'g] emf]n'~u] k'n lgdf{)f   
6 dh'jf a[xb vf=kf= lgdf{)f   
7 d:Nof~ lnkm\^ vf=kf= lgdf{)f   
8 s[i)f u)*sL df=lj= ejg lgdf{)f   
9 ;+ufxf *'d|Ls'gf df]^/af^f] lgdf{)f   

10 
;]h' ufp+ sfk"g*f+*f vf]nfv]t df]^/af^f] 
dd{t 

  

11 ;]h' s'nf] l;+rfO{    
12 x'+uL :jf:Yo rf}sL dd{t   
13 ;]tL kf]v/L kmf]S;L~*f+*f df}^/af^f]   



14 eueuf a]+;L l;+rfO{   
15 j*f sfof{no dd{t tyf sDkfpG*L~   
16 x'+uL :jf:Yo rf}sL sDkfpG*L~   
17 ;fj{hlgs zf}rfno lgdf{)f nIdLgf/fo)f wfd   
18 ;fljs x'+uL 4,7, vf=kf= d"n ;+/If)F   
19 ;ftd'/] lj;d'/] lhd"xf emf]n'~u] k'n lgdf{)f   

 

j8f sfof{no @ g+= sf of]hgfx? 

l;=g+= of]hgf tyf sfo{qmd  /sd   
 ;*s TFKFm{sf of]hgfx?   
1 emf]s]bL uf*frf}/ df]^/af^f] lgdf{)F 300000   
2 ls ]̂gL a]nf}hf df]^/af^f] 500000   
3 em]:sf~ ufj'*f+*f sf]n*f*f df]=jf= 200000   
4 ;xbL vf]nf emn]{~ df]^/af^f] 200000   

  hDdf 1200000   
  ejg lgdf{)fsf of]hgfx?     

1 /fgLfaf; o'jf Sna ejg tnf yk 500000   
2 nf~#fnL k|utLlzn o'jf Sna ejg dd{t 500000   
3 l;$ cfdf ;d"x ejg lgdf{)f 200000   
4 ejfgL k|f=lj= j/G*f dd{t 50000   
5 j*f sfof{no ejg dd{t tyf vfg]kfgL Joj:yfkg 100000   
6 hgr]tgf cfdf ;d"x ejg  200000   

  hDDff 1550000   
  vfg]kfgLsf of]hgfx?     

1 km]/f vfg]kfgL kfOk vl/b 75000   
2 emu/] vfg]kfgL kfOk vl/b y'Dsf 150000   
3 af/af/] vfg]kfgL jf]/~;] 250000   
4 vfgLvf]nf lnkm\^ vfg]kfgL :n]k (nfO{ 200000   
5 n](]g vf]nf vf=kf= 100000   

  hDdf 775000   

 

 l;+rfO{sf of]hgfx?   
l;=g+= of]hgf tyf sfo{qmd  /sd  s}lkmot 

1 cr{n] vf]nf l;+rfO{ s'nf] lgdf{)F lkkbL{ 80000   
2 efn]('uf l;+rfO{ s'nf] lgdf{)f nfj] 50000   

] hDdf 130000   



  v]ns'bsf of]hgfx?     
1 ;'?d*f+*F v]n d}bfg lgdf{)f 210000   
2 sf]^y/ v]nd}bfg tf/hfnL 75000   
3 n'Kr kf]v/f v]n d}bfg lgdf{)f 270000   

  hDdf 555000   
  d&dlGb/sf of]hgfx?     

1 ?k*f+*f ;Ltfb]jL dlGb/ lgdf{)f  100000   
2 e`Hof~yf]s b'uf{ ejfgL dlGb/ lgdf{)f 100000   

  hDdf 200000   
  afnsIffsf of]hgf     

1 ejfgL k|f=lj= afnd}qL sIff Joj:yfkg 100000   
  kmlg{r/      

1 j*f sfof{no ejg kmlg{r/ vl/b :jf:Yo tkm{  59200   
2 :jf:Yo rf}sL Joj:yfkg 100000   

  hDdf 159200   
  k|zf;lgs vr{ 330800   
  s'n hDdf 5000000   

  k|b]zdf dfu ug]{ of]hgfx?   
1 w/fbL lnkm\^ vfg]kfgL of]hgf s|dfut     
2 ;fgf x'+uL df=lj= 4 sf]&] ejg lgdf{)f     
3 cf]de`Hof~ ;'?d*f+*f lkkbL{ d:Nof~ df]=af=     
4 ls ]̂gL nfd] d:Nof~ df]=jf=     
5 l/ld#f ko{^g df]=jf= lgdf{)f     
6 e`Hof~yfs kmf]S;L~*f+*f x'+uL kl)*t^f/ df]=jf=     
7 tfx'+ b]p/fnL cf]de`Hof~ /fgLaf; x'+uL c;]{bL df]=jf=     
8 :jf:Yo rf}sL ejg lgdf{)f      

  s[lif tyf kz'    
1 pGgt af]sf  20 j^f  
2 pGgt /fuf] 5 j^f  
3 pGgt hftsf] ;'Gtnf 2620 j^f  
4      ,,    sfutL 350   ,,  
5      ,,   lnrL 550   ,,  
6      ,,   df};dL 1510  ,,  
7      ,,   cf+k 205   ,,  

l;=g+= of]hgf tyf sfo{qmdx? /sd s}lkmot 
8      ,,   skmL 200   ,,   
9 df}/L uf]nf ;lxt #f/ 55    ,,   
10 Knfli^s kf]v/L 5 j^f   
11 ^g]n 88  j^f   
 s]Gb|df dfu ug]{ of]hgfx?     



1 aof{~uL lnkm\^L~ vf=kf= of]hgf     

2 
;'?d*f+*F e`Hof~ km]/f ;fem*f*f x'b} #f];|f]s vf]nf 
df]^/af^f] ;j]{ .     

3 sfof{no ;xof]uL dfu     
4 ;fdflhs kl/rfnsnfO{ lg/Gt/tf      
5 j*f sfof{no ejg lgdf{)f     

 

j8f sfof{no # g+= sf of]hgfx? 

 ;8s tkm{sf of]hgfx?   
l;=g+= of]hgf tyf sfo{qmd /sd s}lkmot 
1 a]nkfgL,df}=em]=s'=uf= n;'g] rs|ky df]=jf= 400000  
2 s'jfbL l/ld#f df]^/af^f] 100000  
3 hj'jf yfgs'g df]^/af^f] 100000  
4 xfs*f+*f ufa'vs{,l^:^Ls''g hfqf*f+*F df]=jf= 130000  
 hDdf 730000  
 ejg lgdf{)f tkm{     
1 lkkn*F*f tflnd ejg 800000  
2 gd"gf cfdf ;d"x ejg { 100000  
3 lnnd'gL ;fd'bflos ejg 100000  
4 r)*Lyfg ;fd'bflos ejg 200000  
5 ;fd'bflos o"jf ejg 200000  
6 Ogb|])fL cfdf ;d"x ejg Knfi^/ 50000  
 hDdf 1450000   

  vfg]kfgL tkm{sf of]hgfx?     
1 em]:sf~, cfls{*f*f vf=kf= 350000  
2 lkkn^f/L,yfgs'g,a]n^f/L vf=kf= 100000  
3 lgsLrf}/ vf=kf= 100000  
4 lzv/*f*f vf=kf= 100000  
5 vfg]kfgL tyf kfOk Joj:yfkg 143000  

  hDdf 793000   

 

# v]ns'b tkm{    
1 a*/vf]nf,lzv/*f*f elnan v]n d}bfg 200000  
2 dflyNnf] #f]~l;~ v]nd}bfg 100000  
3 n'~s/] v]nd}bfg 100000  
4 sdnf %fk v]nd}bfg 50000  
 hDdf 450000   



 :jf:Yo tkm{     
1 :jf:Yo O{sfO{ s]Gb| :yfkgf-sd{rf/L Joj:yfkg_ 155000  
2 afxo vf]k lSnlgs ejg 150000  
3 :jf:Yo rf}sL Joj:yfkg 100000  
 hDdf 405000   
 lzIff tkm{     
1 /sdfb]jL cfwf/e"t lj= Joj:yfkg 130000  
2 gjb'uf{ cfwf/e"t lj=   ,, 65000  
3 lgzfgfb]jL cfwf/e"t lj=   ,, 50000  
4 sflnsf k|f=lj=        ,, 50000  
 hDdf 295000   
1 s[lif tyf kz' sfo{qmd j*f 100000  
2 lkkn*f*f ;fdflhs p=d=;=;=ln= Joj:yfkg 100000  
3 /Defb]jL dlGb/ lgdf{)f tNnf] #f]~l;~ 100000  
3 r)*Lyfg dlGb/ tyf kf}jf lgdf{)f 70000  
4 ljB't Joj:yfkg 50000  
5 kmlg{r/ tyf ljljw 200000  
6 ;+rfng vr{ 257000  
 s"n hDdf 5000000   
 k|b]z / s]Gb|df dfu ug]{ of]hgfx?     
1 rs|ky dflyNnf] #f]~;L~ b]vL n'~s/]    
2 lkkn*f*fsf] tflnd ejg -j*f ejg_    
3 wf/bL vfg]kfgL of]hgf    
4 ljB't ^fG;km/d/ 100 s]=le=    
5 #f]~l;~ vf]nf x'b} vfjf e`Hof~ df]=jf=    
6 ljB't kf]n    
7 l/ld#f ko{^g k|j{wg sfo{qmd    

8 

c+ufxfvf]nf ;fxf/f s[lif ;xsf/L ;+:yfsf] ejg 
lgdf{)f,xf^ ahf/ ^x/f lgdf{)f tyf Joj:yfkg Pj+ 
b'Uw tyf t/sf/L ;+sng s]Gb| Joj:yfkg    

9 :jf:Yo OsfO{ s]Gb| Joj:yfkg em]:sf~    
10 em]:sf~, cfls{*f*f vf=kf=of]hgf    
11 Hofnfbf/L sd{rf/L Joj:yfkg    
12 sfof{no ;xfossf] Joj:yfkg    

13 j*/vf]nf,s'jfbL,l/ld#f df]^/af^f]    
14 s[lif tyf kz' Joj:yfkg sfo{qmd    
15 :jf:Yo sfo{qmd    
16 OG^/g]^ h*fg j*fsfof{no nfO{    
17 ljB't gof+ lj:tf/ cfjZos j*/vf]nf    



18 g]kfn /]*qm; ;f];fO^L pkfzfvf lkkn*f*f    
19 g]kfn cfbLaf;L hghftL dxf;+# kfNkf    
20 ;fd'bflos /]l*of] /fdk'/    
21 /]l*of] k|ltlglw dbgkf]v/f    
22 lkkn*F+*F ;fljs 9 df xft] ^]S^/ 4    
23 ldgL y]|;/    
24 afb/ lgoGq)F    

25 
a*/vf]nfnfO{ ahf/df Uofle~u tf/ hfnLsf] 
nflu   

 

26 a]nkfgL 9 df ;fj{hlgs zf}rfno lgdf{)f    
27 %f~uf%L lnkm\^L~ vf=kf= of]hgf df}nfy/    
28 n;'g] cf]de`Hof~ df]=af^f] :t/pGgtL ug]{ .    
29 %f~r %f~uf lnkm\^L~ vfg]kfgL     

 

j8f sfof{no $ g+= sf of]hgfx? 

 k"hLut tkm{sf of]hgfx?   
l;=g+= of]hgf tyf sfo{qmd  /sd  

1 ufj'*f*F ;fd'bflos ejg 400000  
2 r)*]Zj/L k|f=lj=ejg dd{t 40000  
3 lSnlgs ejg dd{t 170000  
4 cfv/yf]s k|ltIffno 50000  
5 sf]^ dlGb/ hfg] af^f] dd{t 50000  
6 ledfb,Wof~l;~*f*f,nf]x/]~ kf*]sf]^ nfj], y'DsL df]=af 200000  
7 nf]x/]~ ;fd'bflos ejg 300000  
8 gjHof]tL k|f=lj= dd{t 40000  
9 Wofl;~l;~ kf]v/f /ftfdf^f /}of a*x/] df]= af= 200000  
10 b]jfgkf}jf,w/dkfgL,/ftfdf^f df]=jf= 120000  
11 y'DsL cf]*f/] df]=af= 50000  
12 b]jfgkf}jf,Wof~l;~ kf]v/f  df]=jf= 50000  
13 Oh/ df]^/af^f] 50000  



14 gjls/)f k|f=lj= dd{t 40000  
15 jurf}/ ;fd'bflos ejg 300000  
16 aurf}/ :s'n y'SsL df]=jf= 50000  
17 aurf}/ lvrLvf]nf vfD^f]n df]=jf= 50000  
18 jurf}/ d}bfg rf}/s'gf df]^/af^f] 50000  
19 jurf}/ vfg]kfgL 50000  
20 cd/ cfwf/e"t ljBfno k':ts tyf v]ns'b ;fdfu|L vl/b 50000  
21 x'ldg ;fljs 2/6 lnkm\^ vf=kf= df]^/af^f] 175000  
22 ledfb d:ofd, /]:dL^f]n, *Dd/af; df]=jf= 100000  
23 kf]:bL vf=kf= dd{t 50000  
24 b]p/fnL rf}kf/L lj>fd:yn 50000  
25 Dofn '̂Kkf, ;lbuf^f]n,;'gf/^f]n vf=kf= Joj:yfkg 70000  
26 hglxt eujtL df=lj= dd{t 100000  
27 hglxt eujtL df=lj= lzIfs Joj:yfkg 200000  
28 ledfb uf]v]{sf]^ kGof/*f*f df]=af= 100000  
29 x'ldg #lt{^f]n df]=af= 100000  
30 #lt{^f]n,kGof/*f*f, uf]v]{sf]^ vf=kf= 50000  
31 dfl;{*f*f ln¤km\^L~ df]^/af^f] 100000  
32 dfl;{*f*f /h#f^*f*f / l;hfklt^f]n df]^/af^f] dd{t 60000  
33 dfl;{*f*f s'jf dd{t 90000  
34 /]:dL^f]n vf=kf= 40000  
35 dfl;{*f*f kf}jf lgdf{)f 60000  
36 lkkn] nK;Lsf] ]̂ l;+rfO{ 100000  
37 zfGtL k|f=lj= dd{t 40000  
38 £of~l;~ kf]v/f,cfuL{*f*f,a]n^f/L df]=af= 200000  

 

j8f sfof{no % g+= sf of]hgfx? 

 k"hLut tkm{sf of]hgfx?   

!* x'od kfOk    
!( e"Ifo lgoGq)F sfo{qmd    



l;=g+= of]hgf tyf sfo{qmd  /sd  
1 tfx' a;fx :yfkgf tyf PAC hfg] af^f] (nfg  1500000  
2 dn]~ l;dNbL hfg] df]=jf= 400000  

38 £of~l;~ kf]v/f,cfuL{*f*f,a]n^f/L df]=af= 200000  
39 £of~l;~ kf]v/f,ljrwfd uf]tfd] df]=af= 100000  
40 wfd NofbL ;fd'bflos ejg 100000  
41 cfuL{*f*f vf=kf= 75000  
42 lngvf]nf l;+rfO{ of]hgf 60000  
43 hglk|o k|f=lj= dd{t 40000  
44 /d}*f*f s[lif pkh pTkfbg If]q #]/faf/ 100000  
45 x'ldg dlxnf s[lif ;xsf/L ;+:yf 150000  
46 :jf:Yo rf}sL x'ldg 30000  
47 ;+rfng vr{ 325000  
48 x'ldg ahf/ jfn lgdf{)f #lt{^f]n hfg] af^f]df 25000  
 s'n hDdf 5000000  
 s]Gb| / k|b]zdf dfu ul/g] of]hgfx?    
1 km]bL ledfb cfuL{*f*f,dfl;{*f*f wf]jfbL sfnf]kq] df]=af=    
2 Joj:yLt j*f sfof{no ejg lgdf{)f    
3 hNkfb]jL sf]^ ko{^g k"jf{wf/ ljsf;    
4 «̂fG;kmd{/ wf]jfbL tyf ;*s aQL    
5 [s[lif tyf kmnkm"n ljsf; ks]^ If]q    
6 kz'kfng ljsf; cfof]hgf    
7 ufp ljsf; sfo{qmd lg/Gt/tf    
8 ufp #/ lSnlgs tyf vf]k s]Gb| Joj:yfkg    
9 o"jf :jf/f]huf/ sfo{qmd    
10 dfl;{*f*F lnkm^ vf=kf= cfof]hgf    
11 jurf}/ lnkm\^ vf=kf= cfof]hgf    
12 s '̂jf ls/afbL l;+rfO{    
13 lvR/L vf]nf af/Lleq nfj] s'nf] lgdf{)f    
14 lkkn] nK;Lsf] ]̂ l;+rfO{ cfof]hgf    
15 wfd u}/fvf]nf cfuL{*f*f l;rfO{    
16 v]nd}bfg lgdf{)f    
17 Uofljg tf/hfnL    



3 b]p/fnL dn]~ df]=jf=dd{t 100000  
4 ^]dg] cfdf ;d"x ejg dd{t 35000  
5 elnan u|fp)* dd{t 100000  
6 cf]de`Hof~ emfs/%f]*f vfgLvf]nf df]=af= 250000  
7 cf]de`Hof~ vNs'sf]g  df]=af= lgdf{)f 100000  
8 b]p/fnL lnkm\^L~ vf=kf= 100000  
9 km'?~bL #'lr{; s[lif v*s 200000  
10 km'?~bL vf=kf= dd{t 200000  
11 (fk*f*f df]^/af^f] lgdf{)f 100000  
12 k|x/L rf}sL u]^ lgdf{)f 100000  
13 wf/fbL af^f] d'gL df]=jf= 100000  
14 b]p/fnL %fk df]=af= 100000  
15 dfemy/ elnan u|fp)* dd{t 50000  
16 n'sn's] elnan u|fp)* dd{t 100000  
17 rf}kf/L k'R%f/] kfgL dd{t 25000  
18 ^f]sNbL emfs/*f*f df]=af= dd{t 50000  
19 cf]de`Hof~, u]?*f*F #f]knL%fk tfx" l/~/f]* 300000  
20 ;tfsaf/L kw]/f lgdf{)f afs'd 50000  
21 ufp l^Aaf/L l(sL lgdf{)f 50000  
22 /Ddf df=lj= tfx'sf] u|fp)* ;'wf/ 200000  
23 j*f sfof{no dd{t ;Def/  515000  
24 ;+rfng vr{ 275000  

  hDdf s'n /sd 5000000  
 


